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PART A: Vocabulary

Directions: Choose the word or phrase (V), (Y), (¥), or (¢) that best completes each
sentence. Then mark the correct choice on your answer sheet.

V- Ancient alchemists believed that it was possible to ......... lead into gold.
a) transfer b) direct c¢) mingle d) transmute
Y- Dan always beats me at chess because he develops such an ................ game plan that I
can never predict his next move.
a) elaborate b) ambiguous ¢) eventual d) objective
Y- His election as President represented the .............. of his career.
a) triangle b) motivation ) summit d) periphery
t- She found the job frustrating, and felt she wasn't ........... anything there.
a) evolving b) accomplishing ¢) flourishing d) satisfying
- Britain's ........ over its colonies was threatened once nationalist sentiment began to
spread around the world.
a) compromise b) preference c) hegemony d) independence
1-He..ccceuueee all of his success to his mother's undying undying encouragement.
a) attributes b) converts c) intern e d) results
V-You can ............ the flavor of most dishes with the careful use of herbs.
a) precede b) impress ¢) initiate d) enhance
A- The pirate Blackbeard had a reputation for being a harsh, .......... man.
a) perpetual b) ruthless c) reliable d) prevalent
- Being a direct relative of the deceased, her claim to the estate was........... .
a) legitimate b) profound ¢) prominent d) reckless

\ +- There are more than thirty species of rattlesnakes, varying in length from Y+ inches to
six feet and also varying in ......... of venom.
a) conquest b) detection ¢) domination d) toxicity

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (Y), (%), or (¢) best fits
each space. Then mark the correct choice on your answer sheet.

Football is (VV) ......... ball game in the world and the most popular as a spectator sport. The
simplicity of the rules and the fact that it can be played practically everywhere (1Y) ......... to
this popularity. It is played on all continents and in more than Y+ + countries. At the Y+ ++ census
OY) e by the world governing body, the Federation Internationale de Football Association
(FIFA), (V&) ........... some Y+ million registered players at all levels. In addition, there are () °)
......... casual players involved in pickup games in streets, on parking lots, on school
playgrounds, in parks, and even, as in Brazil, on beaches.

VY- a) played most widely b) the most widely played
c) played the most widely d) the widely most played
\ ¥- a) had contributed b) will be contributing
c¢) has contributed d) will have contributed

\ Y- a) that taken b) was taken c) to be taken d) taken



\£- a) they were b) there were c¢) which were d) were
\ - a) many millions of b) many of millions

¢) many millions d) many million
PART C: Reading Comprehension
Directions: Read the following three passages and choose the best choice (V) , (Y), (¥) or
(%) . Then mark in on your answer sheet.
Passage )
Painting is the queen of the art. To begin the discussion of painting, we should terms crucial to
the understanding of how, physically, such a work of art is put together. As with drawing media,
the color element in paint is the pigment, which consists of natural or synthetic color particles.
Pigments usually come in the form of a powder, which by itself cannot be spread or made to
adhere to the painting surface. The medium or binder is the substance in which the pigment is
suspended. ('Suspension' here means that the particles are mixed with a liquid or semi-liquid
material without dissolving or changing chemically).Linseed oil-as in oil paint-is the best known
medium, but there are many others. A successful medium allows the painter to spread the colors
on a surface as desired and, when it dries, adheres securely to the surface. The name of the
medium of a particular work is often used to describe the work: an oil painting, a watercolor
painting, and so on.
The solvent or vehicle enables the artist to thin the paint so to control its flow and also to clean
the brushes. A solvent is selected according to whether the paint is aqueous (water solvent) or
non-aqueous (dissolved by other than water). Most of us are familiar with the distinction used for
water-based house paints. For water-based paints you can wash the brushes with tap water, but
for oil-based paints you need to use thinner. Much the same distinction applies to artists' paints.

V- The whole passage attempts to ......... .

a) introduce the devices used in the art of painting

b) give reason why painting is the queen of art

¢) discuss various approaches to painting

d) reveal the link between painting quality and its media
\V- Pigment is ...........

a) composed of articles Wthh are always mixed with water

b) the natural or synthetic color particles

¢) not soluble in any king of binder

d) always subject to chemical change in semi-liquid material
\A- The word “others” in line V refers to ........ .

a) paint b) linseed oil ¢) medium d) painter
V4- According to the passage, none of the following characterizes a successful medium
EXCEPT thatit.........

a) provides security for the painter working with chemicals

b) cannot stick to the surface even unless it first dries

c) is the one that is often used to describe the work

d) makes it possible for the painter to spread the colors on a surface as desired
Y «- All of the following are used in paragraph Y EXCEPT ----------- .

a) describing the steps involved in process

b) classifying something

¢) making a comparison



d) describing the function of something
Y- The solvent is also called ---------- .

a) aqueous and non-aqueous

b) vehicle

c) flow

d) water-based and oil-based
Passage Y:
Carpets were not produced in England until the second half of the ) wih century and the early part
of the YV century. The three main centers of production were Kidderminster, Wilton, and
Axminster. These first machine-made carpets were inexpensive, coarse, duouble-faced
(reversible) floor covering woven for utility. After YV¢+, Wilton factories produced pile carpets,
sometimes called Tournai, on hand-operated Jacquard looms. In the mid-YA™ century Wilton
produced carpets influenced by the French Savonnerie carpets and by the contemporary English
architectural decoration of such designers as Robert Adam. During the last quarter of the YA
century, Wilton was temporarily eclipsed by the Axminster factory, founded in YVe©. There,
hand-knotted loops were specifically employed to simulate Indian and Persian rugs and carpets.
The factory was closed in YAY® and moved to Wilton. The widespread introduction of
mechanical weaving in the Vqth century effectively ended the production of Western hand-
knotted pile carpets.

Y Y- Which of the following is FALSE according to the passage?
a) The first machine-made carpets did not enjoy a high quality.
b) The carpets produced in the early part of the }Vth century were hand-woven.
¢) Tournai refers to pile carpet produced in some factories.
d) Looms were employed in factories that produced pile carpets.
Y¥- According to the passage, Robert Adam ......... .
a) was influenced by the French Savonnerie carpets
b) traveled to France in the mid-)A™ century
c) was a designer living in the YA™ century
d) left an impact on the way the French Savonnerie carpets were produced
Y¢- The word "eclipsed" in line V is closest in meaning to --------- .
a) overshadowed  b) manipulated ¢) duplicated d) substantiated
Yo, Western hand-knotted pile carpets ---------- .
a) could have been a great success had the factory not been closed in YAY®
b) are actually no longer produced
¢) involved the use of mechanization on a large scale
d) were made possible because some Iranian and Indian weavers were employed

Y1- The passage is written to ......... .
a) inform b) give a warning c) criticize d) make a contrast
Passage Y':

Painting in fresco and the illumination of manuscripts were practiced in Iran at least as early as
the Sassanian period, but only fragments of the work have survived. In Islamic Iran, painting was
one of the most important arts. Manuscripts of the Qur'an (Koran) in the Arabic Kufic script
were executed on parchment rolls at Al Basrah and Al Kiifah at the end of the Yth century. These
manuscripts did not contain painted scenes but depended for their effect on the beauty of the



calligraphy. Ornamental calligraphy was widely practiced in the Ath and 9th centuries. Painting
and illumination became important elements in the decoration of manuscripts in the 3th century.
With the introduction in the ) *th century of paper for making books, the forms and varieties of

books increased greatly.



YV- According to the passage, samples of painting in fresco and the illumination of
manuscripts practiced in Iran at least as early as the Sassanian period ......... .
a) have received international recognition
b) have managed to survive in their totality
c¢) are among the most important Iranian arts that still exist
d) cannot be found intact
YA- The manuscripts referred to in line ¢ ------—--- .
a) were made in imitation of the Sassanian art
b) were not all in the Arabic Kufic script
¢) carried no painted scenes
d) were made by some Iranians who had fled to Al Basrah Al Kufah
Y4- The forms and varieties of books increased greatly due to ........ .
a) developments that happened around the end of the qth century
b) the introduction of paper
c¢) familiarity with fabulous manuscripts
d) writers' having being allowed to included painted scenes in their manuscripts
¥+~ Which of the following questions is answered in the passage?
a) Why didn’t the manuscripts produced at the ent of the v century contain no painted scenes?
b) Why forms and varieties of books spread after the advent of paper?
¢) Why was painting one of the most important arts in Islamic Iran?
d) What didi manuscripts of the Qur’an (Koran) in the Arabic Kufic script executed on
parchment rolls at Al Basrah and Al Kufah at the end of the yih century depend on for their
effect?
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